EAGRAROBREERT — 2 N— ABISH —F 20205586H (k) 3EIEMHGH

m3ﬁ01: HS5% 3% ‘(ﬂi}% ‘[5&%&#&1] — | & (%) 14000 &
[A&4£] 1 7% :600,000 ™ ~ 237%&:168,000  ~ 3 #&:84,000H  43#&:60,000H” . 5 3&:48,000 ™
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
SN # 3 | BEREH 1:33.9 10-10-1-1 | 41.0| — 2 433 | =EEBEZ (ER)
1 @M 4| TL7TTH— 55.0 [ Ch | 8 Tr—xrEva
R:xF21=gr7— B:FLF7O0TvH> ®E TA
s - s RS :35. -9-7- . = FERE (BE)
ol1l1|¥a-3vyva 4 3 R 1(375)1 9-9-7-6 | 41.9 5 (5_1;) géiﬁ
IR FLy B:wUrbhyian KIFERS
s N RO EBERAR :35. ~6-4- . — TREE (FR)
3l7lg| Tr>>7Lom i 3 . (/3&; 6-6-4-4 | 42.2 1 12(5)? ¥#A§F%
L:hL>TIy e BIAYCTLT =FH FH
P . f 3 | EREE 1:35.5 1-1-2-2 | 43.2| — 4 459 | BH—15 (EH)
s 6|57 VANn-L b 5.0 21/2) G | ) Syvim-usioz
R:FATAT v — BTLARTLAZR FrlEF X Ty — L
D ° ne # 3 | KFFM 1:35.7 4-4-3-3 | 431 | — 3 432 | BAEEE (FEH)
5|7|9 ArrEND SR 54.0 (3/4) o) BARIE
R:¥a—-H7F—/ B:iravMvw-Tr v e
3 — B3 | BARKH 1:35.7 7-6-9-8 | 42.7| — 8 428 | AFHE (EMA)
EE o | EFTFF 54.0 (7E) w) |HRO-CH#
LA agR-5— B v—o70-FK TAILRAT7— L
5 ;= ; 4t 3 | FEHX 1:36.6 8-8-9-9 |43.4| — 6 491 | MEEM—ER (EH)
7l8l11|>3777—7 55.0 (5) (-6) E%?@Z
L:bE—XT—F— B:IUvET—F« J—RH—F
JEE f 3 | HEE= 3-3-6-5 |43.9| — 10 | 449 |RER (EMR)
8 3 NE > 54.0 (7€) 0 INEF BT
R:ily RRIS—4 BNEF v YRV TI=T =L
- S 4 3 | BE#HT 1:36.8 2-2-5-7 |44.2| — 7 447 | ERBY (HH)
9 7| AvRKRZ 55.0 1) (3) | REEZ
LI >T75vva BLT7TSFS BRI 7L
_ = i ft 3 | TTHbED 1:36.9 5-5-8-10 |43.9| — 11 419 | RFI=(F (ER)
10{8|10| 7 T F17 54.0 (76) Ly | AvEsE
R:xF1zgr—X B:7—-NoFUF AHEE
= A4 4 3 | WHEBEX 1:38.3 1-11-11-11| 44.5 | — 9 459 | EREARAL (EH)
11155 7'71’( g=—> 55.0 (8) (+9) FRAEEFI
x> inAa— B:ROCANLTI—2 =R E%E
® 1 —F—EBIERL
1=3—F— 6,7,3,9,10,8,2,11,1,4,5
23 =7= 6,7,3,9,10,(2,8) ,11,1,4,5
Gal=7r= 4,6,9,8,7,3,1,10,(2,11),5
40 —F— 4,6,9,8,3,1,7,2,11,10,5
[ N3
BB 4 480M 714K 1-4 720M e 1-4 3,660 3JEHE 1-4-8 2,240
8 B 4 140M 4-8 250M B = 1-4 3,240M K31 4-1-8 22,690
1 220M 1-8 520M B H 4-1 6,210M
8 1209

ARICOVWTRDTEEERROODE. TR LI,



